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It doesn’t need to be complicated!

quantum mechanics spacetime gravity
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other forces matter Higgs

The Core Theory formula for how the Universe works, Sean Carroll



https://www.preposterousuniverse.com/blog/2013/01/04/the-world-of-everyday-experience-in-one-equation/

MARKETING

It's much simpler than that

Return = # of customers x uplift per - full costs
affected customer



MARKETING

An example

» “We'd like to replace our email system so that we can carry out
personalised nurturing more effectively”

» # of leads/contacts emailed per year=100,000

 “Uplift” calculation:
* 1% of leads eventually close

e 2% improvement in engagement from new tech
« ATV of £10,000

« So, If all went according to plan, we'd close 1,020 deals instead of
1,000 = £200,000 uplift.



MARKETING

An example cont.

A key point here is
that this Is an
Improvement to an
existing system,
rather than a step
change

* S0, year l1return is:
- £200,000 - =



MMMMMMMMM

Putting in new marketing
technology is very disruptive.
Make sure it's worth it before

you begin



m

ee

I >

NS

| &7

-

P

YaY(o)lolle

r 1 1\~

S




	Default Section
	Slide 1: formula for return on marketing investment  www.bjrees.com
	Slide 2
	Slide 3: It’s much simpler than that
	Slide 4: An example
	Slide 5: An example cont.
	Slide 6: Putting in new marketing technology is very disruptive. Make sure it’s worth it before you begin

	Appendices
	Slide 7: Get in touch  www.bjrees.com ben@bjrees.com


